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QUESTION 1

An IT organization transformed from an asset-based management approach into a service- provider approach by
implementing adaptive QoS and multiple points of automation. Now, performance and cost of the system are
predictable. Which two metrics would the organization start to report after such a transition? (Choose two.) 

A. throughput for each storage array 

B. IOPS per TB per month 

C. cost per GB per month by service level 

D. latency per each storage volume 

Correct Answer: BC 

 

QUESTION 2

A customer wants to migrate workloads to Cloud Volumes ONTAP. 

In this scenario, which two test cases would you design in your proof of concept to demonstrate the solution? (Choose
two.) 

A. test HA resiliency 

B. test FCoE 

C. test storage efficiencies 

D. test RAID DP 

Correct Answer: BC 

 

QUESTION 3

You must identify cold data before enabling FabricPool technology with NetApp ONTAP 9.8 software In this scenario,
which NetApp feature or tool would you, use ,to accomplish this task? 

A. XCP File Analytics 

B. Inactive Data Reporting 

C. SnapMirror 

D. Harvest 

Correct Answer: B 

 

QUESTION 4
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Your customer wants to move from hosting all workloads in a public cloud to infrastructure- as-a-service (IaaS) on-
premises. 

In this scenario, which two benefits would you present to the customer? (Choose two.) 

A. scalability 

B. data sovereignty 

C. agility 

D. data security 

Correct Answer: AB 

 

QUESTION 5

You are asked to deploy NetApp Cloud Volumes ONTAP In AWS by using automation tools to help streamline scale
and maintain updates. Which two tools would you use to complete this task? (Choose two.) 

A. Vagrant 

B. Helm 

C. Terraform 

D. Ansible 

Correct Answer: CD 
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